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4. 1t is know that the distance (#E#t) between any two adjacent
points (#p #8 % BE) is 2 cm as show in the figure. What isthe ~ ° °

perimeter(% &) of the shaded figure (f4£ % %&]2) in cm? ° o o
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0.05x+0.08 X 270+6=0.07 X (270+6+X)
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7. As shown in the figure, the lengths of (£ &) the three-line

111~3002 FF el » 78 B i — BAR R PlcE o

segments (% £) inside (p ¥%) the square (&= =~ 25) are 5, 6,
and 9. It is know that the line segments of length 9 and 5 are

perpendicular (Z- = ) to each other, and the line segments of 2
length 6 and 5 are also perpendicular to each other. What is e
the area (& #%) , in square units, of the shaded region (1= &35
5 )?
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o) 0 3 A5G ff 5 (15%45%)+2=125 > {345-T 700 0 0 MEEA F 3r2
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B4 A = #,g9-9 F 8XTX6X4X3+2=2016
B4 A = #H8-8 F 7X6X5X4X3+2=1260
Bk A m#cHT7 70§ 6X5X4X4X3+2=720
Bk A =3 H 66 F 5X4X3X4X3+2=360
Bk A m#cH 555 § 4X3X2X4X3+2=144
Bk A m#cH 445§ 3X2X1X4X3+2=36
2016+1260+720+360+144+36=4536
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